ERRAROBRBIE®RT — 2 X—XBISH—F 2019FF9R5H (K) 12@&&HE3H
Ml C 648 5 R—M B I
[A&£] 1% :270,000™ ~ 23#%&:76,000 M  33%&:43,000”  43%&:27,000H . 57 :16,000

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS

. o . BiBEE 132. -1-1- . — TR (BHE)

11505 JEHTIA X 4 4 54.05 1(3_2)1 1-1-1-1 | 39.6 1 <4+355) ey

/R bwb— B:/RLA 2 R— YoNTY LT Tr— L
S HHS 4 5 | RIBAER 1:32.8 4-3-3-2 | 40.1| — 10 | 456 |MTTAR (BEHE)
21810 7724097 54.0 3) (-4) AHLHK
L:T—UT74=X BTIRIAXTIL EERNEZ e ]
3 4 6 | FEREA 1:33.3 8-8-7-5 |40.1| — 4 412 | EHSHH (BEE)
3|77 | F¥/%U7 54.0 21/2) (+2) | BLEX
LHVRRT4v Y B:o07x<UT N -5
SPPERE # 5 | fRmE 1:33.5 6-6-6-4 |40.5| — 3 446 | HuD=— (BEHE)
] gl Pt o0 (@74 (1) | B
R:ZAZXHTLR B:eYIC Y1l hid  HEER
. D 7 4 5 | LIEHLE 1:33.6 2-4-4-3 | 40.9| — 7 419 | HEMRIE (BEHE)
5011 |Fv bE123T7 54.0 (3/4) © W TrozhEvas
R:TSv U84 R BiA—JNNIY L F ke
N S BRR— :34. —5-5- . — e TRRE (BHE)
6l7lg|a>/Ny KA A A 4 6 e 1(354)6 5-5-5-7 | 41.7 6 (4+234) ) rrros
R:RTAMIXI B:NILIH Y FIRX %Y K
_ v _ 46 | AZAEIE 1:34.9 7-7-8-8 | 41.6| — 2 506 |$SRREX (BEHE)
7lglo|F—73>474 £54.0 (1 1/2) (g) | SRR AL
LixAvavdavy B:I7r—XNFI7T J—HrTr—L
N — . EHEES : -10-9- — HERRIE (BHE)
8 4| TP —FNFAR i 5 i 1.(325).3 10-10-9-9 | 41.4 9 fso) Jhé%ﬂ&ﬁ
L:T77NMTZT BixvNXF47 BRRE&HH /—-¥rL—-227
i S5 4 8 | KIEBHE 1:35.3 9-9-10-10 | 41.2| — 5 442 |SREREX (BHE)

ol 6| 7HIVAT 56.0 AP Ga) | BEARE

etrsnJad B:IS9 I TU e (B) A -FRL—-va>BaEI7
5= = 7 | ALE— 1:36.3 3-2-2-6 |43.7| — 8 485 | FEBS (BHE)

10 3| XV TALTX H 56.0 (5) 2) | A x=2x5T7

B2 Y E—Y BLHTT7 FiE

® 1—F—@EBIERL
1T=7r= 5,1,3,10,8,2,9,7,6,4
2a=5F= 5,3,10,1,8,2,9,7,6,4
30—4+— 5,3,10,1,8,2,7,9,4,6
40—+ — 5,10,1,2,7,3,8,9,4,6

[ N5
B 5 230M 714K 5-10 2,560 e E 5-8 400 JEE 5-7-10 7,860M
B B 5 150M 5-7 510 B = 5-10 7,610M EE 5-10-7 27,490

10 1,090 7-10 6,680 B H 5-10 7,070M
7 370M

ABICOVWTRDTEEERROODE. TR LIV,




